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Instrument Mechanic chemical plant Level 1

Q 1) What should your first action be when treating an electrical burn? / fooTell T ST W)
SUAR Hd 9T 3P| oY Ugcl KT hRAI ElT%Q?

1) Ensure that the casualty is still breathing / ﬁﬁ'@ﬁ o b tﬂ‘%ﬁ faa ot ot g @

@Y
2) Check for danger and ensure that contact with the electrical source is broken / [ DI

ST & 3R A H3 b faggd 9 9 ¥udh g T g |
3) Wash the burn with cold water / &S Ut @Gﬁ E'QH’?[W@
4) Check for level of response / ufafehar & TR &I S B

Q 2) Personal Protective Equipment is required when / HfFTd GRET 3UDRT] Gl
3aFHdl Bidil § 1a-

1) Employers suffer an injury / e die 4 tﬂﬁ'zﬁ Gl %
2) The employees suffer an injury / WT\P[ En_C' @ tﬂ%_cf &Gl %

3) An employee asks for it / Udh HHAR] sHOb ﬁm g dl %
4) Engineering, work practice, and administrative controls do not provide sufficient

protection against hazards / 3 \_Ii T, Eb—lﬁq?ﬂq, 3R U g0 @@l & faowg
T GR& Te™ g! Hd g

Q 3) What steps would you take to control bleeding from a nosebleed? / I EECSCREEC

3 B3 & foIT 3y o1 HgH Iam

1) Sit casualty down, lean forward and pinch soft part of nose / tﬂ’%ﬂ i B =i TSTHR

311 1 3R FeTY IR AF F T O B Gt

2) Sit casualty down, lean backward and pinch soft part of nose / tﬂﬁ"ﬂ fad &l g

FoTHR WS BT 3R 1Y 3R AF F It 2% B qan

3) Lie casualty down and pinch soft part of nose / uﬁ%a fad @l ferere 3R TH & HIHA

o &1 gaTd

% Lie c\'a’lsualty down and pinch top of nose / tﬁ%ﬁ fad @l ferere 3R ATh & IT e
FEIIY

Q 4) Backlash is a typical cause of / SHaA BT T &0 BRI %|

1) Hysteresis / %@ﬁ?ﬂﬂ
2) Dead space / S WY

3) Zero drift / [ dg6ld
4) Sensitivity drift / Hdg-RIIcT dgld

Q 5) In a measuring instrument, dead space is defined as the / U AT aTel SUHRT ﬁ,
Td ™I & & =0 § gfRuifia fasar rar g

1) Range of different input values over which there is no change in output values / faftra
ST A1 BT 907 o7 IR 3fr3eyc JHI & Pis URaaH gl oidl |
2) Range of different output values for the same input values / JHIT {TYC o=l & forg
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fafir 313cge Al @ Juft|

3) Either Range of different input values over which there is no change in output values or
Range of different output values for the same input values / Ul GIRCIRES 21YcC A=l BT oft
o R 33eye Al § ®is ulad el gidT § a1 fthr ¥HH 37Ye

4) none of these / sﬂﬁ I Ebﬁ_sc qﬁ

Q 6) Accuracy of a measuring instrument indicates the / Ydh HIUT 3UH U] Gl RAesdl
BT Habd BT 5

1) Degree of freedom from random errors / grefasd ‘gﬁa‘r AT BT URHTT
2) Closeness of the output reading to the true value / dI¥dldd HI | 3f13cYc QST I Bt

[EEZ
3) Change in the output with each change in input / T4C H U URad- & 1Y 13T yc
H uRacH

4) Ratio of output value to the input value / 7Y HIH S| T3 cYc HIF T AJUld
Q 7) The relative error is the / qroef ﬁ% GGl %|

1) Difference of the measured value and the true value / 7Y T {H 3R gl {H BT 3R
2) Ratio of absolute error to the measured value of the quantity under measurement / fRue
3f¢ T H1Y o dgd AT & HU T | deb b 3UTd

3) Ratio of absolute error to the true value of the quantity under measurement/ fARue ﬁ% |
HIU & dgd HET & dIdfddh 1 deb ol 3UTd

4) none of these / E\ﬂﬁ | Tﬁ—&p EEl

Q 8) Which of these hand tools is used for measurement? / Y= & forg B NIECRRERS|
3 BT & JUDBRUI DT SXAHTC [T STl 87

1) Hacksaw / %WT

2) Steel rule / WA =
3) Drill bit / fgd foe
4) Chisel / &+t

Q 9) The least count of Vernier caliper is / IR W G| YIdH UEKII _Eﬁ?ﬂ %

1)0.01 mm /0.01 fHefiHtex
2)0.1 mm /0.01 fieHer

3) Imm/ 1

4) 10 mm / 10 fefidieR

Q 10) ST unit of pressure is / GAId DT T3S AES 8-

1) Ohms / 3Nl

2) Pascal / Ulkdhdl

3) Joules / o[cT
4) Watts / dIC

Q 11) Bourdon tube is used for the measurement of gauge pressure of / CIER| [QCKCAl

ERSEIN] & TSl gaTa AU o forg foba Sirell g
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1) Gas/ T

2) Liquid fluid / Tl tigs

3) Both gas and liquid fluid / 79 3R foifes Fags gt
4) Solid /

Q 12) Atmospheric pressure is calculated by the / dl';,l*—iSﬂhlq Gd1d BT GREH &
GRT 301 S g

1) height of water column in barometer / R § Uit & Hiaw o d.')'dlsr
2) height of mercury column in barometer / R IR & HiaH B S I‘:{
3) height of lime column in the barometer / R d gl & DHIH B dodl‘:-g
4) height of oil column in the barometer / R H ad & HiaH Bt G)dl%r

Q 13) In neutralization titration, acid react with a base to form / IBLPICE] Elgéﬁl:l ff, &I
T &R & AT UicifehdT o et Ao vl 572

1) Salt and water / <IdU[ 3R U

2) Salt and acid / TEUT 3R 31T

3) Neutral solution / dC¥ fae

4) Concentrated solution / 1@l faeaa

Q 14) Brass is an example of / Uldd CARUCRA Y %|

1) an alloy / Wﬁ[&[?ﬂﬂ
2) a compound / Uch

3) a mixture / b e
4) an element / Y dcd

Q 15) Smallest part of a substance would be referred as a / e o a9 Bic T Bl
e

1) molecule / 3]

2) electron / 3@5@7‘[

3) compound /

4) metal / UTq

Q 16) A change of state from one form to other is a / Udh AR §F|€| ey ¥ gRadq
B R DT &7

1) physical change / ifde gfvad=
2) chemical change / IS uRad-
3) state variation / STAXJ] T 3R

4) none of these / EREEEIER

Q 17) A manometric liquid should suitably have / Udh T ) | SUgdd
U A G A1RY

1) Low density & Low Vapour pressure / BUREE] 3R 9 oy garg
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2) Low density & High Vapour pressure / 99 99 3R 3= a1 g aTd
3) High density & Low Vapour pressure / 3 Ydcd 3R Y 9w garg
4) High density & High Vapour pressure / 3= Y-cd 3R 3= 9T gaTg

Q 18) In a measuring system what is the term used to specify difference between higher and

lower calibration values? / Wrrrqﬁﬁuvn?ﬁﬁ?ﬁr \3‘ﬁT ﬁ’H 3 7M1 & & 3R
oI g B & o Fafafaa & 9 f6y wreg &1 s%9ra fooar sirar 82

1) Range / goft

2) Span / fadrR

3) Drift / f$UE

4) Threshold / BSiel

Q 19) Which of the following is detected using manometer devices? / TR SUHRT HT
ST B FafRad & & o1 I1a o S g2

1) Pressure difference between manometric and measuring liquid / T 3R A1 ke
& ofd ga1d H 3R

2) pH difference between manometric and measuring liquid / AT iR ATOR RA &
EIELICEIRC RN

3) Density difference between manometric and measuring liquid / T 3R AT R
& o O H 3R

4) none of these / gﬂﬁ | ﬁé BEl

Q 20) Water that easily gives lather with soap is called / dg Bk NIEE] & Y A
M AT R, I BB o)

1) Soft water / {g S

2) Hard water / PR oI
3) Clean water / HTth ¢l
4) Dirty water / TIGT STcl

Q 21) Hardness which can be removed by boiling is called / & STU- IERECINEE [ foan
EIRETIEH El g

1) temporary hardness / SR HoRT
2) permanent hardness / T B Ral
3) stiffness / P STUT

4) toughness / d¥ddl

Q 22) Hardness of water is due to the presence of salts of / Tl &1 C2SIEE] &
QU Y JUTRURY F BRI BT 3|

1) Potassium / TRy
2) Chlorine / FAIRA
3) Magnesium / RmH

4) Boron /

Q 23) Remaining sewage after it has passed through sludge tank is known as / el Gk
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gIHR T[oR & §1G QY Aol Dl Hel ol g

1) treated sewage / TR Hd-STd
2) effluent / TIGT UL

3) clinker / YTgHT
4) distillate / 3TYd

Q 24) Which gas is often used as a energy source at city s wastewater treatment plants? /

W?Ww SUER G431 H ol Wid & =0 H RR by T o1 a7 [
Slldl 8?2

1) Ethane / ‘s’ﬂq

2) Carbon / HIa

3) Methane / = 0E ]

4) Nitrogen / 7‘”3_@37‘[

Q 25) Liquid widely used in thermometer is / e HY =4 | S‘QaHIQ’I ICRIRSIE
qTel o uaTd -

1) Water / g

2) Lime / AT

3) Mercury / URT

4) Copper Sulphate / PR Jehe

Q 26) Boiling point of mercury is 357 °C, which is equal to / UR &1 YD 357° Al
g, ol &b S |

1)84K /84 %
2)-84K/-84h
3)—630K/-630h
4)630K /630

Q 27) Resistance temperature detector is / I AU fSedex %—

1) an electrical transducer / U ﬁqqa @ﬂ%‘ﬂ:ﬂ?
2) a mechanical transducer / Uch dT[HD ISR

3) a chemical transducer / T IS CTISYIR
4) a physical transducer / U Hifaes ISR

Q 28) What device is similar to an RTD but has a negative temperature coefficient? / DHIH-
T IUBRU RISt & A g, Afdh BN araHT 0N I o ]2

1) Strain gauge / ESERI|
2) Thermistor /
3) Thermocouple / YHiHud

4) Negative-type RTD / ADPRIHD YD R DI RIS

Q 29) pH stands for power of / pH D OIaR B ﬁﬁl’d hdl %|
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1) H+ ion concentration / H+ 31U P Figd
2) OH- ion concentration / OH- 3T CARSIEG]
3) He+ ion concentration / He+ AT+ P gl

4) power of Hypnotizes / REEESEIRIES

Q 30) Which of the following is the formula for pH calculation? / BiLEEIGERS AN

fraforiea & ¥ foo 33 &1 SxauTa fasa e g2

1) log10[H+]
2) -log1O[H+]
3) log2[H+]
4) -log2[H+]

Q 31) If pH value is greater than 7, then solution is / i pH PTHIT 7 Y 3 i %, dr
g ]

1) acidic / 3T
2) basic / &R
3) neutral / dC¥
4) salty / AU

Q 32) The deformation per unit length is called / ufa §$I_‘$c F‘ng T fa=uu &f
G

1) Strain / ﬁ?ﬁf

2) Stress / d-Tld
3) Elasticity / @

4) none of these / ESEE ﬁ_sc ol

Q 33) The thermocouple circuit which is used to measure temperature works on / AT

IRUY fSRIhT SXAHT dIUH ol 71U & fow fear siar g, ag R BT B3|

1) Peltier effect / fUfecaR gy
2) Thomson effect / YTHIT UHId
3) Seebeck effect / i THTA

4) none of these / ERLEY ﬁs‘ EEl
Q 34) Thermistors / yfHfeR

1) sense large changes in temperature / dATUHIT | 5@ PIRCREIKC| HHLACT %

2) cannot sense any change in temperature / dTUHIA T foraft ufvad &t ERESEERI %

3) sense small changes in temperature / / dTUHIT T B uRad-) &1 qHLAT %

4) have a positive temperature coefficient of resistance / UfaRIY BT U GHRIAD ATIH=

Ul B & |

Q 35) In case of direct current(D.C.) / STARGC HRe (?;?f“vﬁ) & Ao |

1) magnitude and direction of current remains constant / ﬁ‘c:ga &R &7 IRATOT 3R fe=m
RR B

2) magnitude and direction of current changes with time / ﬁ?ﬂ_d ¢1RT BT TRHTOT 3R fa=m
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Y & 1Y daerd @l 8|
3) magnitude of current changes with time / ﬁﬂ:ﬂﬁ ¢RT T GRHATI THT & 1Y Fead

EAIE|
4) magnitude of current remains constant / ﬁ@’ﬁﬁ YR BT URAT fRR | |

Q 36) Electronic multimeter measures / sﬁaﬁﬁ@ TecHex ﬁ HIY hdl %|
1) voltage, current and resmtance / m ﬁ?ﬂﬁ RT 3R TRy

2) voltage and current / Alec ol 3R f ldgyd URT
3) current and power / [dGgd YRT 3R TR
4) energy and power / 3Jolf 3R TTaR

Q 37) What is an ideal fluid? / 3G 5d &1 82

1) a fluid which has no viscosity / Ydb dXcl forad ﬁ’sﬂ fgferar= 6t gia %
2) a fluid which is incompressible / U gd S erdifed g

3) a fluid which has no surface tension / Udh gd mﬁ ﬁé gy ddid '_ﬁ)[ Eﬂ?ﬂ %
4) all of these / T FHT

Q 38) The devices used for flow obstruction is/are / Udlg YT AT B b ferg Ugad
TS B/2-

1) Orifice plate / 3R @e

2) Venturi tube / agﬁ Qd

3) Flow nozzle and dall flow tube / Ydlg ot 3R S Tl d
4) all of these / g gt

Q 39) If four, 12 Farad capacitors are connected in parallel, then, equivalent capacitance will
be / G AR, 12 RIS HUIRCH ST MR J01 T SIST ST €, I8 T 1
Sl

1) 3 Farad / 3 B3T3
2) 6 Farad / 6 BRTS
3) 12 Farad / 12 BRTS
4) 48 Farad / 48

Q 40) For the measurement of flow rate of liquid, the method used is / dX ¢l & JATE Bl &
®I AT & forg, fafd &1 sTAT fovan SraT g

1) Conveyor-based methods / FH-aaR 3eTRd fafemat

2) Bourdon tube / CICR] ;d

3) Coriolis method / Pifgitery fafdr

4) Thermal mass flow measurement / Jparg) <oJHTH Udlg HIU

Q 41) The most common application of float system is / Tile e &1 9ay 9

HH &-

1) To monitor the fuel tank level in motor vehicle / Hrex dle- i g?Ff % IR I
AR #3 & forg
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2) To monitor the flow of solid / I H Udlg H AR A & ﬁ*I'Q
3) To monitor the flow of liquid / dX¢l & a8 B MIRMI PR & fam
4y all of these / T TH

Q 42) A crystal diode is used as / U fhicd SIS T SWH U H fHar S g|

1) an amplifier / Ucdh THATHTIR
2) a rectifier / WW

3) an oscillator / b NCY
4) a voltage regulator / U qiecol A 1@82

Q 43) Which of these is/are a type of heat exchanger? / IBEINIECRREES] DT Uh Bic
UdRIoR &1 UHR &7

1) Recuperator / &@Cﬁa

2) Regenerator /

3) Mixer /

4) all of these / T FHT

Q 44) PLC can be in plant to change the sequence of operation / gfREre &
HH B Ieo- & U ATl FI S A daa frarsnawarg

1) only programmed / dHad IS

2) only reprogrammed / CCNAREIVIES]
3) programmed and reprogrammed / TS 3R Ruums
4) able to give a set point / T I fag o o g

Q 45) The acronym PLC stands for / Sfére 9 duad &1 e GGl %|
1) Pressure Load Control / U¥R @IS dheld

2) Programmable Logic Controller/ H\IHIQQN GTRSIOD Oi’Jg\IQ'R

3) Pneumatic Logic Capstan / 'CLLHICQO QAT hoeH
4) Pressure Loss Chamber / OYR @Y IraR

Q 46) Evaporation from surface of any liquid depends on / Pl M RapT Id8 o
PHRP R AR BT g

1) temperature / ATUHTT

2) wind / gl

3) nature of liquid / AR B Upid
4y all of these / T TH

Q 47) How can you protect your laboratory from an electrical fire ?/ 34 SO TARTRITe
&1 foroTelt Bt 31T ¥ fohd UhR T &1 Thd 82

1) Don t overload an outlet with too many plugs/Ud g 3M3cde W dgd IR @ BT HR A
SIS

2) replace or dispose of frayed electrical cords/ARId faTelt & Rl &I W G| BET <

3) have a fire inspector examine your office/hTdX E@TET 3 3T BT Dt Sl ObQIk
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4) Both Don t overload an outlet with too many plugs and replace or dispose of frayed
electrical cords / U &1 33T TR §gd IR W o1 YR 7 STal 3R WIS faorert & ary
1 §ea & ATgeT S gl

Q 48) In case of electric fire, the fire extinguisher used is /[SSTelt BT T T WR 3179 Ty
UHR o SRS T BT ITANT B

1) Wet chemical type fire extingusher/ a?.’ HUHA BRR SfRETARR
2) Carbon dioxide fire extmgusher [BTE 6I$31Id{-ll'$5 1O W

3) Foam type fire extmgusher/ BTR SIRSTTIIRR
4) Water based fire extingusher/ T STUTRT BTR SIRSTIIRR

Q 49) Why water is a compound?/ BIE]] Uh e ot %?

1) The composition of water is fixed. /3P g MiEd %

2) The properties of water is different from its components. o Isik:] T ISP gedh! I fia
gl

3) The components of water can be separated by chemical methods. /A & U] B
T fafe gRT 3rerT oo o gl & |

4) all of these/d THT

Q 50) The tri-square, combination square, framing square and bevel set are all/ E'I_Sc PRIR,

BIGRH-BRR, BT R IR dqd Je gg ot

1) marking tools/FIRIT S dTel IUHRT
2) measuring tools/HTI dTel USRI

3) clipping tools/TFATUT IUSBT

4) clamping tools/IRIRRT JUSHT

Q 51) Identify the double cut file in the given diagram.m U o § S9d @e Yl ol
UgaH |

A B

AL
TEEEREY

A
2)B
3)C
4)D

Q 52) Which of the following is used for locking purposes‘?@ﬁ 3 fgemT ST Al
& forg fopam < &2

1) Nut and bolt /¢ 3R S
2) Pins/lU

3) Spring washer/fBIT IR
4) Screws/¥p
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Q 53) The least count of micrometer is/ msaﬁiﬂa R 3ifdhd YAdH HIH %

1) 0.001 cm/ 0.001 THY
2) 0.1 cm/0.1 THT

3) 1em/ 1 9|
4) 10 cm/10 THT

% 54) The symbol represents valve. /f&0T 7T Uity dTed ! o fUd Hedr
I

O

1) Butterfly wﬁ

2) Ball/dlcl
3) Globe/ /A
4) Check /A®

Q 55) The nature of calcium phosphate is present in tooth enamel is/ aid o Eeﬂ:lﬁ | ﬁﬁﬁ

PicRrgH widhe B Upfa Bt o

1) Basic/&RIT

2) Amphoteric/3 YT
3) Acidic/3%d

4) Neutral 3G

Q 56) What is the pH value of very strong acid solution?/ dgd ‘Tla' I Ui ol Uiud
7 {1 graT 82

1) Less than 7/7 qHH
2) Less than 5/5 qHH
3) Less than 2/2 P9
4) Less than zero/R[U J6HH

Q 57) The law which states that within elastic limits strain produced is proportional to the

stress producing it is known as/ fPafaa® ST, U] T & HiaR Iaa @?ﬂa,
3P GRT I d-1d & JHMU 8IdT |

1) Bernoulli’s law/STeH &1 |
2) Hooke’s law/gh &I BRE]

3) Stress law/d-Id &I fam

4) Poisson’s law/G199 &1 [HgH

Q 58) Gold color of resistance shows tolerance up to the/ gfeRIY BT BRI I

eIl &) ST 8

1) 0.01
2) 0.02
3)0.05
4)0.1
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Q 59) The diagram shows type of earthing. feuTu e & UPR hI
31 gt T B |
== ’__jl__J «.

TE - =
ol = iF"‘-
Serction H-N ; - 2|l = d

1) pipe/vdigyu
2) plate

3) electrode@ﬁﬂ@g

4) waterman,
Q 60) Practical application of mutual inductance is/ 3G URUT T Udh JGeRUI %I

1) DC generator/@c]@ SRCY
2) electric lamp/%?{ﬁa o

3) Transformer, ,\.

4) Capacitorm

Q 61) In a transformer, the energy is transferred from primary to secondary through/ ot

CRITHR &, ol &t & T ¥ WU 3 fgdias o RiEidid foar ST §

1) cooling coil / T‘%‘FT WTEF[

2) air/gdl

3) flux/UeIRd

4) electrical connection/ fd qdd P SCNE

Q 62) In terms of the division on screen, the voltage of the waveform in CRO is/ TR

fauTer & Hau H, TeReh # aiv o1 diecs garg|
1) Average Voltage/\?‘ﬁﬂﬁ dieedl

2) RMS voltage/3RTHTY dieedl

3) Peak to peak Voltagefw < Ui dleedl

4) Maximum voltage/HgtH

Q 63) This is symbol of /T8 B Ui g

Anode D I Cathode

1) Zener diode/SIFR SIS
2) Varactor diode/ddeR SIS
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3) Tunnel diode/ed SIS
4) Light emitting diode/clTge T SIS

Q 64) The voltage gain in a transistor connected in arrangement is the highest.
/ IR H S ¢ifoRex FT diees Ay o 3% BT g

1) common base/B AT 99

2) common collector/hTHA Faiae

3) common emitter/dH iR

4) series/ARIST

Q 65) Unit of the rate of heat transfer is/ 3 ™HI RITATARTT D &3 Bt Wl_ic%

1) Joule/S[cT

2) Newton/~gc
3) Pascal/UReh ol

4) Watt/dIc

Q 66) Which gas is often used as a energy source at city s wastewater treatment plants?/

;Eﬁ%éﬂﬂ‘@?ﬁ?@ﬁfﬁaqm St A & =0 § f5g 7 &1 IuaiT fsar S
?

1) Ethane/S 9

2) Carbon/T&
3) Methane/H1H

4) Nitrogen/:ﬂs_@\_rr"[

Q 67) This is symbol of pump./Tg U0 &1 Yobd g |

1) Centrifugal@ﬂm{rlﬁ

2) Vacuume
3) Horizontal/ afas
4) Vertical/@fchd a1 SH@MER

Q 68) Porcelain pieces are put into the distillation flask to avoid/ 3THd Ucf[¥dh o Tt
At & SR & ghe W O € dTfdp BEEISIEC

1) Overheating/ 3% Tlﬁaef

2) Uniform boiling/Ude HHIT Jdlc]

3) Bumping of the solution/dTd & 3B
4) color of the solution/8d & 3T
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Q 69) The desirable static characteristics of a measuring system are/HIU- PUINEICIER

3Tt faRwand gl

1) Accuracy and reproducibility/ tlﬁ'%l?s(_rﬂ 3R YToUled-&HdI

2) Accuracy, sensitivity and Reproducibility / tlﬁ'{l,@?ﬂ, Taaiaar 3R e dic-
&HdT

3) Drift and dead zone/[?{l?lir R SS T

4) Static error/Afd®H i‘%

Q 70) Bourdon tubes are/STS & grat %

1) very highly sensitive to shock/3{Tdld & Ufd 98¢ Yag-Rid
2) not sensitive to shock/ATITd & Tfd Hagand Tl

3) less sensitive to shock/ 3THTd & Ui HH ddgId

4) more sensitive to shock/3THTd & gfd 31 Hagaid

Q 71) Bimetallic strips are employed in thermometers./ Eﬂéﬂ%ﬁ@ @'GH
YAHICR H TS STl § |

1) Vapour—pressure/atﬂ U=R

2) Liquid-expansion/%’lm-wm
3) Metal—expansion/ﬁ?ﬁ—wm

4) Resistance/JTaRIY

Q 72) Thermistors:/ yftfed:

1) sense large changes in temperature/ dTYHIT o qSl daddid Heqd G| %

2) cannot sense any change in temperature/dTUHI o ﬁé W ggad He{d h q&Hd %
3) sense small changes in temperature/cdTYHI T &Y Jgard &l Hexd HRd %

4) have a positive temperature coefficient of resistance/HTRIY & YD ATTHTH {LUIiOb

GRE

Q 73) Which of these is/are a type of head type flow meter?/ ERLES) CaCkil U YhR Db
TS TRY Tl e 3

1) Venturi tube/ égil A

2) Rotameter

3) Electromagnetic meter@ﬁﬂ@% Hiex
4) Turbine flow meter/CdIg Tl Hle®

Q 74) A magnetic flowmeter will not properly measure the flow rate of/ U mifesw

AR YHad: Pl UATg aX & 3l I gl A9 gre|

1) Dirty water/TG OTT

2) Milk/g¥

3) Acid /3%

4) oil/dd

Q 75) Which of the following conversions take place in float element?/ T Qﬁlﬂ? | 37{3[
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T DI T TYIdRT gidT 82

1) Level to force/cad < pacs

2) Level to Voltage@ﬁ?[ < glecst

3) Level to displacement@?ﬁ[ < fSeige
4) Level to pressure@ﬁ?f < USR

Q 76) The diagram shows type of level measurement in a closed tank. /99 ICEE:]
TS §¢ ¢p | TR HI dad A19- G=1ia1 a1 |
Tank '\_[
________________ t

PProi®-==uarl =acad O l'lii.‘-’l'il SOty reesr

1) Hydrostatic head @B@@’W 5

2) Ultrasonic /3{eg
3) Float /e
4) Sight glass/ T8 TG

Q 77) The most common application of float system is/ Tile Ried &1 99y IH=g

1) To monitor the fuel tank level in motor vehicle/ Ih?? dlie-d o _'ic?Ff % TR DI UITtl hIA]
2) To monitor the flow of solid/3T¥ & UdTE 1 il B

3) To monitor the flow of liquid/dRT & HaTE H1 SIId BRI

4) all of these/dg Tt

Q 78) In ultrasonic level gauge, the ultrasonic source is placed at the/31¢t,i\l'{-|\li\0h NEREIS]

A e fA® | & e @ ST B

1) Bottom of the vessel containing the liquid/&d gdd Ul GRS R
2) Top of the vessel containing the liquid/«d gdd Ul FHR
3) Middle of the vessel containing the liquid/&d Jdd Ul & g o
4) Far from the vessel containing the liquid/&d gdd UTA 9 [}

Q 79) All of the following are general types of check valves EXCEPTE_"Iﬁ | &
3Qrar Gt IHRI UHR & I dled %|

1) butterfly/SeUATS
2) plug/&I

3) diaphragm/STUIRTH
4) ball/dld@

Q 80) In the given figure, Block B represents : fau gl o o T off Ueiia e % :
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PP O™ PR s Tl A DR A AT

o —-l PR I__ ™ —
—t I ri e

1) Output module/3M3CYC ASId
2) Power supply/ﬁ@'ﬂ?[ &I'I'Cﬂﬁ

3) Programming device/STITHT feargq

4) None of these/ 37{3[ 3 aﬂ's‘ '_-|€f
% 81) Which of these is not the manufacturers PLCS?B_'-Iﬁ 3 ﬁ:[ Qﬁﬂﬂ?ﬂﬁ & ﬁtﬁ?ﬂ v_-|_6Q[
?

1) Allen Bradley/Ua@ s&dl
2) Infoysis/3

3) Siemens/ATHY
4) Honeywell/ gad

Q 82) The figure is of/ T8 *A TR

1) multimeter/HeeHICY
2) digital voltmeter/f&fored aleetiex

3) CRO/ITSIR3
4) calibrator/daISeR

Q 83) The symbol represents valve. /f&a1 74T Uity dred ! FefUd erdr
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1) Butterfly /TS

2) Ball/dld
3) Globe//Ald
4) Check /A®

Q 84) Creeping is the phenomena occurs in /AT Uh ufoear % S | Eﬁ?ﬁ %

1) Ammeter/ 3R

2) Voltmeter/ dieeHIe

3) Wattmeter/ qreHier

4) Energy meter/ Sl Hiex

Q 85) If measuring tape is too long as compared to standard, the error will be known

as___/Jfe AU aTcl <Y HHS &1 ga- § §gd el 8, 81 areit TTerd! &bl G|
STa

1) Instrumental error/ JUDHUIY ﬁ%
2) Natural error/ W ‘g’l%

3) Manufacturing error/ BL _a’%

4) None of these/ E:Iﬁ I aa‘rs‘ T—|€[
Q 86) Which one quantities consists of S.I. unit as Hertz?/ fog AT &t Wevﬂ%c EWIBc Bé\\_rl

g2

1) Frequency/ \31'@[%[
2) Charge/

3) Force/ 91

4) Power/ UldX

Q87) is a variable displacement transducer/ Uh gRad-g fa=Img=
SIS §

1) Tachometer/ TR
2) Ammeter/ 3R
3) Potentiometer/ greRreiieR

4) None of these/ ST A DI a1

Q 88) For platinum thermocouple, lead wires are made of / @feH yHieud & ﬁﬂ,
REEIRN P & gt ¢

1) Copper & copper alloys / dI&T dUT dTaT s Yrd
2) Cooper & Iron/ ST YT

3) Iron & Nickel/ FﬁET ayT firde

4) Tin & Nickel/ fe=1 qu1 fiere

Q 89) Kelvin temperature equal to 25°C is /25 TSI TR AU & SRISR dhiedH
GICIG!

1) 298K/ 298 &
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2) 100K/ 100 &
3) 250K/ 250 &
4)320K/320 &

Q 90) A good OP-AMP hasa /U 3= 3fUl-uuddt # glarg

1) Very high bandwidth/ Sgd 3{f® safqy
2) Narrow bandwidth/ ﬂ?ﬁlﬁ dafay

3) High selectivity/ 3 Ia=gdl

4y All of these/ T T+

Q91) In the thermocouple the heat energy is converted into  / yHfeUd ff, g 3ol

uRafed gt &

1) Mechanical energy/ TifA® Sl
2) Electrical energy/ ﬁgﬂ?ﬂ’q Sl

3) Magnetic energy/

4) None of these/ THY aﬁé e
Q 92) Absolute pressure is measured by / TP gard GIRT HIUT SITdT %

1) Bourdon gauge / CIERESIN]

2) Aneroid barometer/ TRIZS IRHIER

3) Differential manometer/ FSTH R TAIHIR
4) Vacuum gauge/ %aqq M

Q 93) The transistor is made of  / Udh EII%IEQ WW@HT%

1) German silver/ S Riea”
2) Platinum/ wifefaa

3) Germanium/ SR

4) Gold/ T

Q 94) The resistivity of the conductor depends on IRSCINED AR IREI] [°E3
R st g

1) Area of conductor/ JdTcIdh hT b
2) Length of conductor/ {dIcid P NEIF)
3) Material of conductor/ {dlcidh D1 AT

4) None of these/ ST A DI a1

Q 95) The property used to oppose the flow of currentis  / PIC & §81d BT [RIY B
forg v Y ST et s BEA §

1) Potential difference/ HYHTfAd 3R
2) Capacitance/ 7T

3) Inductance/
4) Resistance/ PISRCEI
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Q 96) Null type recorders are / A UHR & Rprex %

1) Bridge recorders/ IESARCART

2) LVDT recorders/ qadtate! Roprex

3) Potentiometric recorder/ lﬂ?ﬁrahtﬁ% ez
4) None of these/ ET'FE[ I ﬁs‘ '_'|_6W

Q97) is temperature sensor./ A0 IR %

1) Manometer/ TR
2) Vortex/ ARCHT

3) RTD/

4) Thermocouple/ yHipud

Q 98) The formula to find I when the values of V and R are known is / TS ot 9UT 3R
®! AR Tl B, 3113 P! U R & Bl Dl Fed g

1) I=VR/ 3M3=d13R

2) I=R/V/ 3MT&=3{R/at
3) V=IR/ dl= 38 3R
4) I=V/R/ 3Me=d1/3R

Q 99) When 12 V are applied across a 68 Q resistor, the current is / 519 68 Q UicRIU®
& 1Y 12 F HT S ST 8, PR g g

1) 816 mA/ 816 THY
2) 17.6 mA/ 17.6 THU
3) 176 mA/ 176 THY
4)8.16 mA/ 8.16 THT

Q 100) Junction Field Effect Transistors (JFET) contain how many diodes?/ STaRI_ Bles

gthae CiffReR (Wuwhsdh § fba fE3is gl &

1)4
2)3
3)2
4)1

Q101) is not a basic element within the microprocessor./ m 3l
T 3 T 5

1) Micro controller/ €Y [BUECT
2) Arithmetic Logic Unit/ KT ad sao‘rs‘
3R

3) Register array/

4) Control unit/ fFAE=0T 3HTS
Q 102) Flapper nozzle is used in a/an / TRATR SISt T TRInT T Il %

1) Electronic controller/ E@Im [BUECD
2) Pneumatic controller/ AAAIY FA®H
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3) Hydraulic controller/ SRICARPECY
4) Solenoid valve/ Fil@l:ilsg dled

% 103) On-off controllers are used for / HT-3{TP Fd=eh] BT TN & ﬁ"l'q B:F”

1) Low loads/ H s

2) Temperature changes/ dTJHIT LIRCRE]
3) Flow rate changes/ 981d GX Jeadl %
4) High loads/ 3= @IS

Q 104) Accidents in chemical plants are mostly due to / TG @ie # gﬁd-—llﬁ

HARWR P BRUBMN S

1) Inadequate equipment design./ TATE IUH fSHIZA

2) Faulty operating procedures./ TRTS IATe m

3) Improper layout of the equipments./ JUHN BT STJUgdd SElRE
4) Failure of equipments/ JUHUN P SAHE

Q 105) A Rotameter is a device used to measure  / CHIeR T IUSBRT % S Gl
HIY 3 foTg TR fosa St &

1) Velocity of gauges/ ST &t 71
2) Flow of fluids/ &dl &1 §gTd

3) Density of fluids/ %dl @l 99
4) Vortex flow/ IR dgld

Q 106) The f%luid used in hydraulic controlleris___/ STeltd (Md=d H WANT fobaT S aral
WA

1) Water/ g
2) Steam/ HIY

3) Air/ I
4) Oil/ I

Q 107) The liquid used in manometers should have / TR ® 7T foeu o Tl
R H RElIEIHY

1) Low density/ ©H Ydcd

2) High density/ 3= Y-cd

3) High surface tension/ 3= Hdg d-ld
4) Low surface tension/ H ddg d-ld

Q 108) is not a differential pressure flow meter./ Udh fa=Iv® qaTg yarg Hiex
T8
1) Rotameter/ JeHie’

2) Orifice meter/ SR Hier
3) Flow nozzle/ dgld EIS]
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4) Venturimeter/ agﬂﬂ IR

Q 109) Which of the following controllers has the least maximum deviation?/ faferaa o
3 fou e o wed o1 Sifidad faga 8 2

1) P-D controller/ -3t fds®

2) P-I controller/ ﬂbf-\’:ﬂé IBUECH

3) P-I-D controller/ tﬁ-&ﬂ_ic-gjf IBUEED
4) P-controller/ -z

Q 110) is the dynamic characteristic of an instrument./ Th IUBRU] Bl
TfcRitet forRrear

1) Reproducibility/ FST-TdT
2) Sensitivity/ &

3) Dead zone/ Hd &

4) Fidelity/ fasaan

Q 111) Magnetic flow meters are generally not used for the velocity/flow measurement of
hydrocarbons due to their /GBI TAE MR MATR W ITH &b BRUI
@W%%/mﬁm%mwﬁnqﬁmw%

1) Low flash point/ H TS Uisc

2) Low electrical conductivity/ HH faggdid aTeidbar
3) Low thermal conductivity/ H g Tl dl

4 High viscosity index/ 3= fufaurge JAhIh

Q 112) Radiation source is an important parameter in / fafesvor A | Uh
HH® §

1) Viscometer/ fawmidier

2) pH meter/ Uige dier

3) Calorimeter/ PR

4) None of these/ E:I'Ef | a’ﬁ_ﬁc Tel

Q 113) Thermistors are used in devices./ YHCR BT TN JUHION § G\Idl %

1) Voltage measuring/ dlecst AT
2) Temperature measuring/ dIUHT adt
3) Temperature compensating/ JTUHIT HIdYIdd]

4) Both (B) & (C)/ (&) auT () A1

Q 114) Which of the following is not a communication device used in DCS?/ faferaa o

J DI Tt T IR IUDHRUT T8t & o S0 & TORT gt § 2

1) RS 232/ 3RTY 232
2) RS 245/ 3RTY 245
3) Field bus/ TIcs &9
4) Bluetooth/ scJg¥
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Q 115) Which of the following is an undesirable dynamic characteristic of an instrument?/

fofead & § o It Iusur o1 saifesd nfaxita faivar g 2

1) Dead zone/ H{d &l

2) Reproducibility/ UsTdl
3) Time lag/ THY 3ARTA
4) Static error/ R ﬁf%

Q 116) A SCADA system will include  / TOUTISIT YuTelt H gftferd grm

1) Networks/ Jeds
2) Signal hardware (I/O) controller/ R B'Iéam (&I'I_sc/\’rh) IBEEY

3) User Interface (HMI)/ IR gy (TITH
4y All of these/ T T+

% 117) PLCs are programmed using _ / dioaat Eal & TART ¥ TR foear T

1) C language/ It HTe

2) Natural language such as English/ it St FI'@W HINT
3) Relay-ladder logic language/ o @@T GERYLI

4) None of these/ 3_'{3[ | aﬁ's‘ '_'|_6°f

Q118)BCDis /i<l ?

1) Binary Coded Decimal/ fSAIRI ®le s SR
2) Bit Coded Decimal/ foc wIee SR

3) Binary Coded Digit/ fo R dre s fefore

4) Bit Coded Digit/ foe ®es fefore

Q 119) If voltage across a resistance doubles then the / UfcRIY® & TTY diecs] g! |:ll gl
I B o g

1) Current is halved/ P YT 8l oIl &
2) Current is unchanged/ He uRafdd 8
3) Current is doubled/ HC HESIG %
4) None of these/ E:I'Ef @ :léjf

Level 1 Answer key
Question . Question . Question . Question .
No. Option No. Option No. Option No. Option
1 2 31 2 61 2 91 2
2 4 32 1 62 2 92 2
3 1 33 3 63 1 93 3
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4 2 34 3 64 2 94

5 1 35 1 65 4 95

6 2 36 1 66 3 96

7 3 37 4 67 4 97

8 2 38 4 68 3 98

9 2 39 4 69 2 99

10 2 40 3 70 4 100
11 3 41 1 71 3 101
12 2 42 2 72 3 102
13 1 43 4 73 1 103
14 1 44 3 74 4 104
15 1 45 2 75 4 105
16 1 46 4 76 4 106
17 3 47 4 77 1 107
18 2 48 2 78 1 108
19 1 49 4 79 1 109
20 2 50 2 80 2 110
21 1 51 2 81 2 111
22 3 52 1 82 4 112
23 2 53 1 83 3 113
24 3 54 2 84 4 114
25 3 55 1 85 1 115
26 4 56 3 86 1 116
27 1 57 2 87 3 117
28 2 58 1 88 1 118
29 1 59 1 89 1 119

22/30



7/26/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=27

30 2 60 3 90 1

Instrument Mechanic chemical plant Level 2

Q 1) Bulk modulus of elasticity is / @d H Uld HIUI®H &l Hed g

1) Tensile stress / Tensile strain / d=Adl d-1d / d-Ud m

2) Shear stress / Shear strain / HaR=1 qH1d / DAL ﬁ@ﬁ

3) Tensile stress / Shear strain / d=Jdl d-Id / HaRA] ﬁ?‘%{

4) Normal stress on each face of cube / Volumetric strain / 9 % H(QIGI? gde U gqMHYg

qH1d / ST - 1d
Q2) C.T. and P.T. are used for / T3, sﬁ? ul.dt. &1 3@’1:”?[ & 1%111 g ST %|

1) measuring low current and voltages / GE] ﬁa\'ﬂﬁ YR 3R e B ATG]

2) measuring very low current and voltages / dgd GE] iﬁqu YR 3R e B AT

3) measuring high currents and voltages / 3=l ﬁ?ﬁﬁ YR 3R eest Dl AT

4) measuring intermediate currents and voltages / ﬂwa?ﬁﬁ?{g?r YRT 3R dlecs B AT

O\

Q 3) In ultrasonic level gauge, the ultrasonic source is placed at the / Uch e [H[[h dad

NS, e ifAE Hid Bt TR 3T STl g

1) Bottom of the vessel containing the liquid / d¥cf Yad o B Ut

2) Top of the vessel containing the liquid / A< Jdd o 1 2y

3) Middle of the vessel containing the liquid / d¥ef Jdd - T qe YT
4) Far from the vessel containing the liquid / d¥¢f dd CREE XS

Q 4) The main purpose of a control valve positioner is to / Tch 37_@?{ qTed TISHeR ol q
o

1) Alter the fail-safe status of the valve / dTed @l W-W&Iﬁ RUfY P1 Jgcd
2) Improve the precision of the valve / dled P gclhdr o Q'@ Pl

3) Alter the characterization of the valve / dled P! faRvdT &I gaa

4) Increase transmitter accuracy / E:Iﬂtﬂa P Ttahdl Bl deldl

Q 5) Hardness of water is due to the presence of salts of/ UMl &1 HoRdl NELKH]
U & HRUIERAT B

1) Potassium/TIcRTAH
2) Chlorine/dIRIA
3) Magnesium/am

4) Boron.

Q 6) A moving-coil permanent-magnet instrument can be used as by using a low

resistance shunt./ Waﬁ‘fa—ﬁ?ﬂ W—Wmaﬁm TRy X BT TGN
PP P ®YH WA fbdl T bl gl
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1) ammeter/3HIC
2) voltmeter/dIeeHICR

3) flux-meter/FTRI-HICX
4) ballistic galvanometerm eI

Q 7) In a full-wave rectifier, the current in each of the diodes flows for /Uch Q’T’T-a_d

AFewrR ¥, yde sTirs ¥ fagyd urt & forg yarfed gt 8

1) Complete cycle of the input signal. /RTYcC Tohd b @ dh

2)  Halfcycle of the input signal./TYC Hobd & Y Ih

3) Less than half of the input signal/TYc Hobd & Y J HH

4) more than half of the input signal/TYc Hbd & MY T 3Hferh

Q 8) In a shunt capacitor filter, the mechanism that helps the removal of ripples is/ Uch T

fheex | U &1 g H Hee Bl g

1) The current passing through the capacitor/a?aﬁla gl ﬂGRef qrait ﬁ?ﬂ?‘[ YRT

2) The property of capacitor to store electrical energy/ﬁ?{ﬁﬁ ol B YU B BT
HURIER BT T[0T

3) The voltage variations produced by shunting the capacitor/ HURYR Bt e H gRT
I diecs H gGard

4) Uniform charge flow through the rectifier/ IFCHRR I BB A HT TH GHH Yag

Q 9) Boiling point of mercury is 357 °C, which is equal to/ UR &1 HYFI®H 357 ° C %, S
& SRR B

1) 84K
2) -84 K
3)-630K
4) 630K

Q 10) Which of following factors do not affect rate of evaporation?/ 5"H:I' Y DI T HRD
IR BT &R B YU el BT 67

1) Temperature of liquid/«d T dTUHTT

2) Humidity of surrounding air/3{T¥{-UTHq & gar § =t
3) Depth of liquid/gd ot

4) Surface of liquid/d G| Yde

Q 11) Which of the following errors are regularly repetitive in nature?/ IBEINIEER] _aﬁth |
T fpae! upfa Faftd S0 3 e o &1 8 22

1) Systematic errors fafia ﬁﬁ?ﬁ
2) Random errors /3T ﬁfé’q'[

3) Illegitimate errors /Hﬂﬁlﬁ Z%CIT .
4) Controllable errors/ =0T A1y FfewT

Q 12) In the manometer given above, 2 immiscible fluids mercury (p = 13600 kg/m3) and
water (p = 1000 kg/m3) are used as manometric fluids. The water end is exposed to
atmosphere (100 kPa) and the mercury end is exposed to a gas. At this position, the
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interface

= wma v To

__
——

1) 100 kPa
2) 50 kPa
3) 200 kPa
4) 0 kPa

Q 13) The diagram represents pressure measurement, Part A is /g EEETICRICE]

TAUTARIHTA B

1) manometer/HATHIEY

2) Limit switch/fcifre faa

3) control Valve@ﬁ dled

4) Pressure transmitter/J=R E’Iﬂﬁf?\’

Q 14) The disadvantage of using Optical Pyrometer for temperature measurement is that it /

ATTH HoA & T 3Pt ureidier & SuanT & argfae a8 @ f a8

1) is not useful for obtaining continuous values of temperatures at small intervals./ ‘Lh%

SITRTE UR AT T AR HIH UTed = o fore Iudidt 781 & |

2) Can t measure the moving objects./dATIHT aﬁ&h P AT To! Fabdl _

3) Can t be used where physical approach is difficult /\_ﬂﬁ tr@"a LIS ICarR] % CRESLRI

To! o S Hepelt

4) require need of any direct body contact between the optical pyrometer and the object./

%&ﬁ@wmﬁasﬁ?waﬁ$aﬁa%mﬂﬁwamﬁ$w&ﬁ&mw@?ﬁ
I

Q 15) In closed container type level measuring system, pressure at top of container is due to

%ﬁmwﬁmmmﬁ,ﬁﬂ?%wwm P HROT Bl
|

1) Vacuum pressure/aa?{q USR
2) Vapour pressure/a'cl'\" USR
3) Liquid pressure/dXd adld
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4) Atmospheric pressure/ dlg*—i SRIRTIE
Q 16) C.T. and P.T. are used for/AT @Ttﬂ?ﬂ %mwmﬁlﬁél

1) measuring low current and voltages/ H BT 3R dlecs BT AU

2) measuring very low current and voltages/3f&d HH HIC 3R e B AU
3) measuring high currents and voltages/ 3= T 3R dlecs B AU

4) measuring intermediate currents and voltages/ ATSIH BHIC 3R e B AU

Q 17) Recuperator, Regenerator, Mixer are the types of / F{@ L&C{, HorRex 3R TR
& UPR G

1) calorimeter/PARIHICY

2) flow meters/Tal HIeX

3) level indicators/AIad S8BT
4) heat exchanger@al_‘:r TRIDOR

Q 18) Which of these controllers is termed as reset controller./g-1 Eb_fj?lﬁf[ I frg e
IR Bl Sl §

1) Propotional controller/STAIRIAA 37_@?1?
2) Integral controller/SCTd Eh_@w

3) Derivative controller/SXidfed W@Fﬂ
4) on-off controller/ -3 W@W

Q 19) Working principle of mercury in glass thermometer is / T URHHTER § UR &1
S Rigid

1) Volumetric expansion./ HIATHD ICESSIRY

2) Pressure rise with temperature/ dTUHIT & 1Y gaa | q@
3) Linear expansion./ IRg fawar

4) None of these/ E:I'Ef @ ﬁ's‘ :lﬁof

Q 20) Which of the following is a semiconductor memory?/ frafafea & @ o= @ U
3T AR g 2

1) RAM/ 3IRTTH (3H)
2) MAR/ THE3R

3) CD-ROM/ S|
4y CD/ Htet

Q 21) Absolute zero pressure can be attained at a temperature of / Tlh [ qdld
AT UR VT ot off Hahell §

1) 0° ¢/ 0 T&Ut Ty

2) 50° K/ 50 f&Th hfeam

3) 0° R/ 31 f&Ut 3R

4) None of these/ sﬂﬁﬁaﬂéﬂ'ﬁ
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Q 22) Which is the example of digital device from the given option ?/ fed e fameai A 9
HT TsIulce] SUDRU] b JqlgrUl % ?

1) Sensors/ JTR

2) Recorders/ ECARR

3) Microprocessors/ Wﬁaﬁm
4) None of these/ E:FEI | ﬁ_sf ol

Q 23) Ohm s law describes the mathematical relationship between / &nB'q CaRGEE
& S T Gy BT uRHId Har g

1) Ohms, kilohms, and megohms/ &hB'q , ﬁv_C'nBT[ ayr ﬁTnET[
2) Resistor size and resistor value/ UfeRIYD STHR qUT UfcRIeD 3?1
3) Resistance, voltage & current/ qﬁlﬁﬂd)dl, glecol aUT dHIc

4) None of these/ 370 I CAEEK

Q 24) Which of the following is not a composition measuring instrument ?/ fafafea o
B 1 T HIS A0S SUHRYT g § 2

1) Thermal conductivity cell/ yid e 9o
2) Mass spectrometer/ HIY C

3) Polarograph/ IR
4) Hot wire anemometer/ TIRH dI} SfAteR

Q 25) All the thermocouples used for temperature measurement use dissimilar metal /

w@m%iﬁzwmaﬁaﬁmﬁuﬁwwm B ITIT

1) Strips/ &i—q
2) Bars/

3) Wires/ AR
4) Beads/ Sigd

Q26) T%e commonly used flux in brazing is /TPt H STHAR TR YA 81 ATl yarg

1) Borax/ IR
2) Resin/ IR

3) Lead sulphide/ TS TehIge
4) Zinc chloride/ fS® FARES

Q 27) Composition of alloys can be determined by / e ?ﬂﬁ\':;h CHEERIl gRI
ST S et ©

1) Polarograph/ PIGREIED
2) Chromatograph/ PIHCIITH

3) Refractometer/ X%

4) None of the these /STH A DTS T8l
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Q 28) Which of the following is the largest quantum of pressure?/ fFafafed d S s e
& T IS AT E 2

1) 1 kg/em?2 /1 fopal / THT 2
2) 1 bar/ 1 dIR

3) 1 atmosphere/ 1 aw
4) 1 kilo Pascal/ 1 foall O a

Q 29) Faraday s law of electrolysis is related to the ) TRTS BT Eﬁa@Fﬂ\_ﬂ &1 fAg|
RSB

1) Cation speed/ HicaH T
2) Atomic number of the cation/ Hica Bt UHIT] H¥eAT
3) Equivalent mass of the electrolyte/ Qﬁﬂ@ﬂ’lﬁ? & JHHE I

4) None of these/ 370 I CAEEK

Q 30) Ohm’s law is valid for only current flowing in__ / gy &1 499 dhad |
T8 B aTd e P T a ©

1) Conductors/ JdlcIh
2) Transistors/ ET@IET

3) Diodes/ f$31Ts
4) Electric area/ fé?{qa &

Q 31) The Boolean expression for a 3-input AND gate is JUh 3-gYc QuFSl Tic &
for gfer == g

1) X = AB/ Td9=Udl

2) X = ABC/ TRI=Ud 4

3)X = A + B + C/ U= T+a+3
4) X = AB + C/ To=TaI-+3f

Q 32) Relative humidity of air can be determined by a / §aT B ATdef THT gRT
ST S Hebelt ©

1) Chromatograph/ P
2) Mass spectrometer/ HIY @?ﬁjtﬂa
3) Polarimeter/

4) Relative hygrometer/ U TR

Q 33) The maximum allowable limit that a measurement may vary from the true value is

called / 3ifereray Wierd diaT 5181 Ueh AU aRafasd Jed § fid 8) Tl g

FHEATH ©

1) Permissible error/ 3{THd _aj%
2) Expected error/ GHTAd ﬁ%

3) Least error/ <gAdH _ﬂ%
4) Safe error/ YRI&d Ff¢
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Q 34) The sensmVlty accuracy of an instrument depends on_ / Udh SUH U] P

GAeT=iedT etahd R AR AT

1) Frequency response/ &nqﬁ-r gfafear
2) Amplitude distortion/ 3TITH fa=qo
3) Temperature variations/ dTYHI [d<fcf-

4) None of these/ ERCREIERE

Q 35) The advantage of digital instruments is / f&fored Iuahvur &1 ey %

1) No observational error/ ﬁg ICESLNIEECY _3'[% el
2) Faster reading/ GERIIEI

3) Better accuracy/ 3! Ftapdl

4) All of these/ T T

Q 36) The degree of perfectlon used in instruments,the techniques and the observations is

knownas ___/ 3UHRUI, dwﬂlqaleﬁT&IthﬁﬁWﬁaﬁaﬁﬁqphTﬁ%tﬁaﬁ

& &Y T S I @

1) Accuracy/ getdd

2) Precision/ &dl

3) Least count/ <gTdH AT

4) None of these/ ERCE aﬁ_ic Tel

Q 37) Temperature of a hot moving body can be measured by / T TRY sao‘lé Cal
GIEEIE SR AT o obdll &

1) Radiation pyrometer/ fafdvor mRiTex

2) Optical pyrometer/ JHPHd TRIHICR

3) Resistance thermometer/ gfaRiel yffHieR
4) Clinical thermometer/ Feidl YA

Level 2 Answer key
Question No. | Option Question No. | Option
1 4 31 2
2 3 32 4
3 1 33 1
4 2 34 3
5 3 35 4
6 3 36 2
7 2 37 2
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8 2
9 3
10 3
11 1
12 1
13 4
14 1
15 2
16 3
17 4
18 2
19 1
20 1
21 3
22 3
23 3
24 4
25 3
26 1
27 2
28 3
29 3
30 2
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